
DS6 – CB

Sujet PC-étoile
Problème2 Problème3
Tridiagonalisation Matrices Jacobi Quelques exemples
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S. Co. 1/1 1/1 1/1 1/2 1/1 1/1 1/1 1/4 1/1 1/1 1/1 1/1 1/1 1/1 1/1 1/1 1/2 3/4 1/1 1/1 1/1 1/1 1/1 1/1 1/1 74,00 15,0

N. M. 1/1 1/1 1/1 2/3 1/1 3/4 1/1 1/4 1/1 1/1 1/1 1/4 1/1 1/1 1/1 1/4 3/4 1/1 1/1 48,00 10,0

Y. V. 1/1 1/1 1/1 1/1 1/1 1/1 1/1 3/4 23,50 6,0

3 3 3 4 3 3 3 2 3 4 4 2 3 4 3 3 4 4 2 3 3 4 5 3 3 3 3 4 48,96 9,4

2,0 3,0 1,0 1,5 2,7 2,0 1,8 1,0 0,3 1,3 0,0 2,0 1,0 0,0 3,0 3,0 2,3 3,0 1,0 1,5 0,8 2,8 1,0 1,0 1,0 1,0 0,0 2,0 1,3 0,8 1,0 1,0 0,0 0,0 0,0 0,0
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